
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	



	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	



Section 7 iPart List�

Page	No.1�

23�24�

9@N9�  J@N>RJU�LXMN� #J>@�!X�� 4N\L>R<@RXW� A@b� E�F�P� 7FD� BN9J>T�

(� ((
((



/(� 6�)C	 (-,�(
�� 3bURWMN>� (� /�,.� /�,.� f�

)� ((


)
(),)� 7�)

�
((� 8XXM�<JWNU�CNUM9NW@� (� (*.�(�� (*.�(��f�

*� ((


)
(),*� 7�)

�
()� BXUUN>�CNUM9NW@� (� -
�-(� -
�-(� f�

�� ((


)
(),�� 7�)

�
(*� 8R@LQ�CNUM9NW@� (� �*�/)� �*�/)� f�

,� ((


)
(),,� 7�)

�
(�� DQN�<>X<NUUN>�\QJO@�@AKN�CNUM9NW@� (� .�0� .�0� f�

-� ((


)
(),-� 7�)

�
(,� 2UJMN�JaUN�CNU9NW@� (� ..��,,� ..��,,���

.� ((


)
(),.� 7�)

�
(-� 2NU@�LXBN>�CNUM9NW@� (� ,�*0� ,�*0� ��

/� ((


)
(),/� 7�)

�
(.� 3XBN>RWP�CNUM9NW@� (� )/�-0� )/�-0� f�

0� ((


)
(),0� 7�)

�
(/� CTJ@N�CNUM9NW@��� (� .�))� .�))� ��

(
� ((


)
()-
� 7�)

�
(0� CTJ@N�CNUM9NW@�B� (� .�)(� .�)(� f�

((� ((


)
((.-� ��DB5))
�
(,� 2NJ>RWP�\NJ@�CNUM9NW@� )� (�-.� *�*�� f�

()�
((
(()




� 2C	1(*�.
 7(	�!�

3X9KRWNM�\NJURWP�
PJ\TN@\g1A@X9J@RL�LX>Nh� �� f� f�

f�

(*�
((
(()



*� 2C	1)(�,
 7(	)!�

3X9KRWNM�\NJURWP�
PJ\TN@\g1A@X9J@RL�LX>Nh� )� 
�

(� 
�

)�

f�

(�� ((
((*


)�� 2G()0,��� 2NU@� �� f� f� ��

(,� ((


(


*
� 56(.,�((-� �RLT\@JWM�<RW� (� 
�(�� 
�(�� ��

(-� ((
((/


(*� 56(.,�()*� #D"�MA\@�LXBN>� (� 
�,,� 
�,,� ����

(.� ((
(
)


(0� 562(.,�(*0� 8J99N>�KUJMN� )-� 
�/,� ))�(� f�

(/� ((
((/


00� 7�"C(�,�(
-� 1MJ<@X>�QXUMN>� )� 
�(/(� 
�*-)� f�

(0� ((
(
-


0
� 7(	�� 8XUUXC�KX@� )� 
�
)0� 
�
,/� ��

)
� ((
(
0


)
� 7(I)� 1MJ<@X>� 9JUN!� )� 
�(),� 
�),� f�

)(� (�


�


*�� 72�/0*�(�/-� 3R>LUR<���/� �� 
�

-� 
�
)�� ��

))� (�


�


��� 72�/0*�(�/-� 3R>LUR<��-/� (� 
�
(/� 
�
(/� f�

)*� (�


�


,*� 72�/0*�(�/-� 3R>LUR<��0
� �� 
�
*� 
�()� f�

)�� (�


*


)/� 72�/0��)�/-� 3R>LUR<���
� (� f� 
� f�

),� ((
((,


()� 72	D�).-�0�� 4NN<�P>XXBN�KJUU�KNJ>RWP��-

/�BH� )� 
�(..� 
�*,�� ��

)-� ((
((,


��� 72	D�)/(�0�� CNUO�JURPWRWP�KJUU�KNJ>RWP��(*
/� )� 
�.),� (��,� ��

).� ((
((,


�-� 72	D�)/(�0�� CNUO�JURPWRWP�KJUU�KNJ>RWP�)*
/� )� 
�0��� (�///� f�

)/� (�
,





�� 72	D��(�)


� !A@� ()� )� f� f� ��

)0� (�
(




)�� 72	D�,./)�)


� 2XU@� (-�0, 3UJ\\�(
�0!� )-� 
�(/0� ��0(�� f�

*
� (�
(
(


*.� 72	D�,./*�)


� 2XU@� (
�(-� )� 
�
)(� 
�
�)� f�

*(� (�
(
(


�
� 72	D�,./*�)


� 2XU@� (
�*
� ,� 
�
*� 
�(,� ��

*)� (�
(
(


-,� 72	D�,./*�)


� 2XU@� ()�),� ()� 
�
*0� 
��-/� f�

**� (�
(
(


-.� 72	D�,./*�)


� 2XU@� ()�*
� �� 
�
�*� 
�(.)� f�

*�� (�
(
(


-0� 72	D�,./*�)


� 2XU@� ()�*,� /� 
�
�.� 
�*.-� f�

*,� (�
(
(


.(� 72	D�,./*�)


� 2XU@� ()��
� �� 
�
,)� 
�)
/� f�

*-� (�
(
(


.0� 72	D�,./*�)


� 2XU@� ()�/
� (� 
�
//� 
�
//� f�

*.� (�
(
(


*/� 72	D�,./*�)


� 2XU@� (
�)
� (� 
�
)*� 
�
)*� ��

*/� (�
(
(


(0� 72	D�,./*�)


� 2XU@� /�),� )� 
�
(-� 
�
*)� f�

*0� (�
-
)


(�� 72	D�.
�(�)


� 8C83C� -�)
� �� 
�

/� 
�
*)� ��

�
� (�
,
(



*� 72	D�//0�(�)


� �XLTWA@� (
� ,� 
�

0� 
�
�,� f�

�(� (�
,
(



-� 72	D�//0�(�)


� �XLTWA@� ()� ()� 
�
(*� 
�(,-� ��

�)� (�
,
(



/� 72	D�//0�(�)


� �XLTWA@� (-� )/� 
�
*0� (�
0)� f�

�*� (�
,
(



(� 72	D�//0�(�)


� �XLTWA@� -� �� 
�

*� 
�
()� f�

��� (�
)





/� 72	D�0*�(0/.� C<>RWP�CJ\QN>�()� )
� 
�

*� 
�
-� ��

�,� (�
)





.� 72	D�0*�(0/.� C<>RWP�CJ\QN>�(
� 0� 
�

)� 
�
(/� f�

�-� (�
)





-� 72	D�0*�(0/.� C<>RWP�CJ\QN>�/� )� 
�

(� 
�

)�

�.� (�
�





*� 72	D�0,�)

)� #UJRW�CJ\QN>�(
d)� (,� 
�

*� 
�
�,�

�/� (�
�





�� 72	D�0,�)

)� #UJRW�CJ\QN>()d)�,� )/� 
�

-� 
�(-/�

�0� (�
�





)� 72	D�0,�)

)� #UJRW�CJ\QN>�/d(�-� )� 
�

)� 
�

��

,
� (�
�





(� 72	D�0,�)

)� #UJRW�CJ\QN>�-d(�-� �� 
�

(� 
�

��



Section 7 iPart List�

Page	No.1�

23�25�

9@N9�  J@N>RJU�LXMN� #J>@�!X�� 4N\L>R<@RXW� A@b� E�F�P� 7FD� BN9J>T�
,(� (�
�
(



�� 72	D�0-�)�)

)� �J>PN>�<UJRW�CJ\QN>�()d*� (�� 
�
))� 
�*
/� f�

,)� (�
�
(



*� 72	D�0-�)�)

)� �J>PN>�<UJRW�CJ\QN>�(
d)�,� ,� 
�
()� 
�
-� ��

,*� (�
*






� 72	D(
0-�(0.0� 6UJ@�TNb�(
d�
� (� 
�
)�� 
�
)�� f�

,�� (�
*





(� 72	D(
0-�(0.0� 6UJ@�TNb�(
d.
� (� 
�
�)� 
�
�)� ��

,,� (�


)



)� 72((,)�/0� #>N\\A>N�UAK>RLJ@X>� (
�(�
� ,� 
�

.� 
�
*,� f�

,-� ((
()-


))� 7�)

�(
(� 7ARMN�>JRU� )� /�,)(� (.�
�)� ��

,.� ((





,(-� 7�)

�(
)� 3QJRW�9XAW@RWP�<UJ@N� (� ��),*� ��),*� f�

,/� ((


(

,�,� 7�)

�(
*� 3QJRW�9XAW@NM�JaUN� (� 
�./)� 
�./)� f�

,0� ((





,(.� 7�)

�(
��  AM�\L>J<N>�<UJ@N� (� .�/
0� .�/
0� f�

-
� ((





,(0� 7�)

�(
.� CNJU<UJ@N� (� 
���� 
���� ��

-(� ((





,)
� 7�)

�(
/� 5WM�LXBN>� �� 
�
)/� 
�(()� f�

-)� ((


(

,�-� 7�)

�(
0� 3XWWNL@RWP�\QJO@� (� (�
�� (�
�� ��

-*� ((





,)(� 7�)

�((
� 7NJ>KXa�9XAW@RWP�<UJ@N� (� ��()/� ��()/� ��

-�� ((
((.


(/� 7�)

�(((� 99�8R@LQ�#RW E<<N>!� (� 
�-0� 
�-0� ��

-,� ((
((.


(0� 7�)

�(()� 99�8R@LQ�#RW UXCN>!� )� 
�/-/� (�.*-� f�

--� ((





,(/� 7�)

�(
,� 1MSA\@RWP�>RWP� (� 
�/(*� 
�/(*� ��

-.� ((





�-,� ��DB5))
�()(� �RLT\@JWM�@AKN� (� (�*,0� (�*,0� f�

-/� ((





�-/� ��DB5))
�())� C<JLN>� (� 
�
*)� 
�
*)� f�

-0� ((
(
,


*-� B�"C	�)),�"C�()-� 3QJRW�n-a)
a)/� 0
� 
�(*� ((�.� ��

.
� ((
((�


�)� C#2�(-.���/
� #AUUNb� (� ��/-,� ��/-,� f�

.(� ((
((�


�(� C#2�)(0���/
� #AUUNb� (� /�*,,� /�*,,� ��

.)� ((
(()


*)� D3�
�0
�()� "RU�\NJU� (� 
�
(0� 
�
(0� ��

.*� ((
(()


�(� D3�,�0
�(
� "RU�\NJU� )� 
�
*-� 
�
.)� ��

.�� ((
(()


��� D3,
�0
�(
� "RU�\NJU� )� 
�
**� 
�
--� ��

.,� ((
(





)� G8,
�*

H�
(F� 7NJ>KXa� (� ))�0.-� ))�0.-� ��

.-� ((
((0



�� H-��
�/
� CCNUUJKUN�\UNNBN� )� 
�/))� (�-��� ��

..� ((
((.


(�� e((��,� #D"�<RW� *� 
�
,� 
�(,� f�

./� ((
((.


(,� e�� 8JR>�<RW�LX@@N>� (� 
�
)� 
�
)� ��

.0� ((
((/


*)� e�
� (
�),� �WXK� *� 
�
)(� 
�
-*� f�

/
� ((
((/

(
/� lo� 8JWMUN� )� 
�
�)� 
�
/�� ��

/(� ((
(
.

(0-� �7(	) mnh� �XWP�XRU�QX\N� )� 
�(
.� 
�)(�� f�

/)� (�
-
)


,)� 72	D�.
�(�)


� 8C83C� ()�*,� �� 
�
,(� 
�)
�� ��

/*� (�
-
)


*-� 72	D�.
�(�)


� 8C83C� (
�),� �� 
�
)0� 
�((-� f�

/�� ((
((/

(
.� �/G(,G*� BRMN>�>RWP� /� 
�
�0� 
�*0)� ��

/,� ((





,)-� 7�)

�((*� 2NU@�PAJ>M�ONWMN>� (� ,�
*)� ,�
*)� ��

/-� (�
(
(


*0� 72	D�,./*�)


� 2XU@� (
�),� �� 
�
)-� 
�(
�� ��

/.� ((
((/


*/�  JWAJU�LJWR\@N>� (� 
�)*�� 
�)*�� f�

//� ((


(

,0/� 7�)

�((�� #>N\\A>N�UAK>RLJ@X>�LXWWNL@X>� (� 
�
*� 
�
*� ��



Section 8iWearing Parts List�

23�26�

Item� Material	code� Part	No.� Descrip4on� Qty� mark�
1 14050100008� GB/T	889.1-2000� Locknut	M16� 24�

Used	in	180	
Model�

2 14010000024� GB/T	5782-2000� Hexagon	bolt	M16*95� 24�
3 11010200018� EF175.123� Large	Y	type	Blade� 48�
4 11011300024� BX1295.4� Belt� 4�
5 11000100500� EF175-102	� Blade	Spacer� 48�

f�

1 14050100008� GB/T	889.1-2000� Locknut	M16� 26�

Used	in	200	
Model�

2 14010000024� GB/T	5782-2000� Hexagon	bolt	M16*95� 26�
3 11010200018� EF175.123� Large	Y	type	Blade� 48�
4 11011300024� BX1295.4� Belt� 4�
5 11000100500� EF175-102	� Blade	Spacer� 52�

f�

1 14050100008� GB/T	889.1-2000� Locknut	M16� 28�

Used	in	220	
Model�

2 14010000024� GB/T	5782-2000� Hexagon	bolt	M16*95� 28�
3 11010200018� EF175.123� Large	Y	type	Blade� 56�
4 11011300024� BX1295.4� Belt� 4�
5 11000100500� EF175-102	� Blade	Spacer� 56�

f�

Item� Material	code� Part	No.� Descrip4on� Qty� mark�
1 14050100008� GB/T	889.1-2000� Locknut	M16� 24�

Used	in	180	
Model�

2 11010200019� EFB175.139� Hammer	blade� 24�
3 14010000024� GB/T	5782-2000� Hexagon	bolt	M16*95� 24 
4 11011300024� BX1295.4� Belt� 4�

f�

1 14050100008� GB/T	889.1-2000� Locknut	M16� 26�
Used	in	200	

Model�
2 11010200019� EFB175.139� Hammer	blade� 26�
3 14010000024� GB/T	5782-2000� Hexagon	bolt	M16*95� 26 
4 11011300024� BX1295.4� Belt� 4�

f�

1 14050100008� GB/T	889.1-2000� Locknut	M16� 28�
Used	in	220	

Model�
2 11010200019� EFB175.139� Hammer	blade� 28�
3 14010000024� GB/T	5782-2000� Hexagon	bolt	M16*95� 28�
4 11011300024� BX1295.4� Belt� 4�


